	Demente d	Description				
	Reported	Reported				
	Available	Actual	6/30/2012			
Name	Days	Days	MA Days of Care	Group	Per Diem	Total Payment
ABINGTON CREST NURSING AND REHAB CENTER	29,280	22,030	15,671			\$0.00
ABINGTON MANOR	43,920	41,898	23,795			\$0.00
ALLIED SERVICES SKILLED NURSING CENTER	135,415	120,820	87,482			\$0.00
ARBUTUS PARK MANOR	51,606	49,567	29,974			\$0.00
ARISTACARE AT MEADOW SPRINGS	55,998	47,870	41,711			\$0.00
ARTMAN LUTHERAN HOME	22,326	20,964	6,821			\$0.00
AVALON NURSING CENTER	30,378	29,178	22,001			\$0.00
BALA NURSING AND RETIREMENT CENTER	65,880	63,327	55,008	С	\$1.57	\$86,362.56
BALDOCK HEALTH CARE CENTER	43,920	34,362	21,071			\$0.00
BALDWIN HEALTH CENTER	73,200	66,569	41,764			\$0.00
BALL PAVILION, THE	31,110	29,352	18,373			\$0.00
BAPTIST HOMES OF WESTERN PENNSYLVANIA	46,116	43,200	26,615			\$0.00
BARNES-KASSON COUNTY HOSPITAL SNF	21,228	19,107	15,132			\$0.00
BEAVER VALLEY NURSING AND REHAB CENTER	43,920	41,557	22,392			\$0.00
BELAIR HEALTH AND REHABILITATION CENTER	37,698	32,544	15,602			\$0.00
BERKSHIRE CENTER	47,580	46,004	27,164			\$0.00
BERWICK RETIREMENT VILLAGE NRSNG CTR I	43,800	27,664	22,308			\$0.00
BERWICK RETIREMENT VILLAGE NRSNG CTR II	43,800	32,528	20,711			\$0.00
BLOOMSBURG HEALTH CARE CENTER	54,385	42,958	28,606			\$0.00
BRANDYWINE HALL	65,880	61,303	41,224			\$0.00
BRETHREN VILLAGE	43,920	41,934	19,490			\$0.00
BRIARLEAF NURSING AND CONVAL CENTER	65,148	63,243	52,788	Е	\$0.49	\$25,866.12
BRINTON MANOR	33,672	31,865	17,681			\$0.00
BROAD MOUNTAIN NURSING AND REHAB CENTER	47,214	43,671	33,472			\$0.00
BUCKINGHAM VALLEY REHAB AND NURSING CTR	47,580	45,341	28,829			\$0.00
BUCKTAIL MEDICAL CENTER	15,738	10,754	9,951			\$0.00
CALVARY FELLOWSHIP HOMES, INC	16,470	15,330	8,552			\$0.00
CARING HEART REHAB AND NURSING CENTER	85,206	65,271	41,038			\$0.00
CARING PLACE, THE	36,600	35,385	22,474			\$0.00
CATHEDRAL VILLAGE	54,020	45,438	10,572			\$0.00
CHAPEL MANOR	87,840	83,837	68,700	Е	\$0.49	\$33,663.00
CHARLES COLE MEMORIAL HOSPITAL ECF	17,934	16,500	11,281			\$0.00
CHARLES M. MORRIS NURSING AND REHAB CTR	58,194	56,457	28,170			\$0.00
CHELTENHAM NURSING AND REHAB CENTER	93,330	86,664	79,532	А	\$3.88	\$308,584.16
CHICORA MEDICAL CENTER	41,724	38,096	25,806			\$0.00
CHRIST THE KING MANOR	58,560	56,645	36,124			\$0.00
CHRIST'S HOME RETIREMENT CENTER	8,784	7,856	3,243			\$0.00
CHURCH OF THE BRETHREN HOME	49,044	45,961	29,655			\$0.00
CONCORDIA LUTHERAN HEALTH AND HUMAN CARE	49,776	47,381	18,388			\$0.00
CONNER-WILLIAMS NURSING HOME	18,300	14,683	11,473			\$0.00
COUNTRYSIDE CONVAL HOME LTD PARTNERSHIP	17,568	16,399	8,014			\$0.00
CRANBERRY PLACE	54,900	46,126	29,148			\$0.00
CRESTVIEW CENTER	65,880	62,435	37,914			\$0.00
CROSS KEYS VILLAGE-BRETHREN HM COMM, THE	98,820	93,851	48,754			\$0.00
DEER MEADOWS RETIREMENT COMMUNITY	75,396	70,415	47,219			\$0.00
DOCK TERRACE	26,352	25,477	10,358			\$0.00
DONAHOE MANOR	26,352	23,501	14,930			\$0.00
DR ARTHUR CLIFTON MCKINLEY HEALTH CENTER	32,940	31,332	18,121			\$0.00
DRESHER HILL HEALTH AND REHAB CENTER	43,188	39,778	32,190	F	\$0.35	\$11,266.50
DUBOIS NURSING HOME	51,240	47,149	27,558		÷0.00	\$0.00
	51,240	,140	21,000			ψ0.00

	Dementeral	Description				
	Reported	Reported				
	Available	Actual	6/30/2012			
	Days	Days	MA Days of Care			Total Payment
EDGEHILL NURSING AND REHAB CENTER	21,960	21,415	18,858	В	\$2.63	\$49,596.54
ELDERCREST NURSING CENTER	17,568	15,890	8,076			\$0.00
ELK HAVEN NURSING HOME	43,920	42,583	23,158			\$0.00
ELKINS CREST HEALTH AND REHAB CENTER	54,900	51,927	39,395			\$0.00
ELLEN MEMORIAL HEALTH CARE CENTER	50,874	40,369	28,996			\$0.00
ELM TERRACE GARDENS	26,352	25,598	7,547			\$0.00
FAIR WINDS MANOR	24,156	22,844	17,128			\$0.00
FAIRMOUNT HOMES	41,724	36,772	14,630	_	^ ~~~ -	\$0.00
FAIRVIEW CARE CENTER OF BETHLEHEM PIKE	64,416	60,117	47,878	F	\$0.35	\$16,757.30
FAIRVIEW CARE CENTER OF PAPERMILL ROAD	47,214	44,398	32,537			\$0.00
FELLOWSHIP MANOR	44,286	41,831	16,291			\$0.00
FOX SUBACUTE AT MECHANICSBURG	8,052	7,113	5,041			\$0.00
FRIENDLY NURSING HOME - PITMAN	17,568	13,423	10,719	_	^ ~~~ -	\$0.00
FULTON COUNTY MEDICAL CENTER LTCU	24,522	24,308	19,384	F	\$0.35	\$6,784.40
GARDEN SPRING CENTER	63,318	59,959	45,825	_		\$0.00
GERMANTOWN HOME	65,880	62,526	55,795	В	\$2.63	\$146,740.85
GETTYSBURG CENTER	43,188	31,237	18,338			\$0.00
GOLDEN HILL NURSING HOME, INC	74,664	59,807	50,457			\$0.00
GOOD SHEPHERD HOME RAKER CENTER	36,234	35,655	34,237	A	\$3.88	\$132,839.56
GOOD SHEPHERD HOME-BETHLEHEM	21,960	21,660	20,906	A	\$3.88	\$81,115.28
GRANDVIEW HEALTH HOMES, INC	62,952	56,726	45,245	F	\$0.35	\$15,835.75
GREEN HOME, INC, THE	43,920	37,227	22,811	_		\$0.00
GREENLEAF NURSING HOME AND CONVAL CENTER	47,580	44,247	37,009	D	\$0.95	\$35,158.55
GROVE MANOR	21,594	20,562	7,137			\$0.00
GUY AND MARY FELT MANOR, INC	14,640	13,973	10,884			\$0.00
GWYNEDD SQUARE CTR FOR NSG & CONVAL CARE	66,246	63,306	50,212			\$0.00
HAMILTON ARMS CENTER	39,350	32,830	20,377			\$0.00
HAMPTON HOUSE	38,064	35,074	25,373			\$0.00
HARSTON HALL	43,920	40,400	30,497			\$0.00
HAVEN SKILLED REHABILITATION AND NURSING	32,850	26,129	19,477			\$0.00
HAVENCREST NURSING CENTER	17,568	15,882	6,185			\$0.00
HENRY CLAY VILLA, LP	27,084	25,410	20,163			\$0.00
HIGHLAND CENTER, GENESIS ELDERCARE NTWRK	35,502	27,361	19,153			\$0.00
HIGHLAND MANOR NURSING AND CONVAL CENTER	43,920	39,360	29,573			\$0.00
HILLCREST CENTER	65,880	62,495	48,843			\$0.00
HOMELAND CENTER	33,672	32,649	14,768			\$0.00
HOMESTEAD VILLAGE, INC	21,960	14,996	4,531			\$0.00
HOPKINS CENTER	39,162	36,436	23,360			\$0.00
HUMBERT LANE NURSING AND REHAB CENTRE	43,920	34,067	23,819			\$0.00
HUNTINGDON NURSING AND REHAB CENTER	34,038	27,461	20,377			\$0.00
IMMACULATE MARY HOME	108,336	104,657	79,106			\$0.00
INGLIS HOUSE	108,702	105,167	100,281	А	\$3.88	\$389,090.28
IVY HILL REHABILITATION AND NURSING CTR	55,266	47,752	37,499			\$0.00
JEFFERSON MANOR HEALTH CENTER	58,560	50,659	36,001			\$0.00
JEWISH HOME OF GREATER HARRISBURG	50,508	48,083	28,438			\$0.00
KINKORA PYTHIAN HOME	21,960	19,790	10,542			\$0.00
KUTZTOWN MANOR	51,240	49,942	40,088	F	\$0.35	\$14,030.80
LAFAYETTE-REDEEMER (DBA ENTITY OF HRHS)	43,800	41,557	17,269			\$0.00
LANDIS HOMES	37,698	36,657	13,797			\$0.00
LANGHORNE GARDENS REHAB AND NURSING CTR	43,920	40,011	26,969			\$0.00

Reported Responde Group Barrie Group Par Diem Total Payment. LAUREL CENTER 27,304 56,102 44,403 50,000 LAUREL CENTER 22,326 20,574 14,603 \$0,000 LAUREL CENTER 24,364 20,574 14,603 \$0,000 LAUREL VERV VILAGE 21,860 20,610 7,814 \$0,000 LIBERTY COURT, GENESIS HEALTHCARE 54,846 44,427 16,246 \$0,000 LIPEQUEST NURSING AND REHAB CENTER 51,240 47,490 34,029 \$0,000 LIPTONOUNNING NAND REHABLITATION CTR 37,332 30,391 21,826 \$0,000 MUNYOOD NURSING AND REHABLITATION CTR 37,332 30,391 \$1,626 \$0,000 MANCORAR HEALTH SVCS-KINGSTON COURT 55,266 49,821 \$27,201 \$0,000 MANDRCARE HEALTH SVCS-HINGSTON COURT 55,266 49,821 \$27,201 \$0,000 MANORCARE HEALTH SVCS-HORK SOUTH 55,266 52,813 33,818 \$0,000 MANDRCARE HEALTH SVCS-SHADYSIDE 54,900		Penartad	Reported				
Name Days MA Days of Care Group Pet Diem Total Payment LAUREL RIDGE CENTER 22,328 20,574 14,603 \$0,00 LAUREL VIEW VILLAGE 21,860 20,610 7,817 \$0,00 LAUREL VIEW VILLAGE 21,860 20,610 7,817 \$0,00 LIBERTY NURSING AND REHAB CENTER 54,346 45,618 33,396 \$0,00 LIPERTY COURT, GENESIS HEALTHCARE 54,240 47,490 34,029 \$0,00 LIPEQUEST NURSING AND REHAB CENTER 51,240 47,490 34,029 \$0,00 LIVMOOD NURSING AND REHABLITATION CTR 37,332 30,391 21,626 \$0,00 MANDRCARE HEALTH SVCS-KINGSTON COURT 55,266 49,821 27,201 \$0,00 MANDRCARE HEALTH SVCS-KINGSTON COURT 55,266 49,821 27,201 \$0,00 MANDRCARE HEALTH SVCS-HITSBURGH 81,984 65,485 53,024 \$0,00 MANDRCARE HEALTH SVCS-YORK NORTH 55,266 5,813 33,818 \$0,00 MANDRCARE HEALTH SVCS-YORK NORTH 55,266				0/00/0040			
LAUREL CENTER 47,580 45,112 30,322 \$0,00 LAUREL RICE CENTER 22,326 20,674 14,503 \$0,00 LAUREL NICE VIEW VILLAGE 21,960 20,610 7,817 \$0,00 LEIGH CENTER 46,849 44,427 16,248 \$0,00 LIERCUEST NURSING AND REHAB CENTER 53,436 48,518 33,886 \$0,00 LIERQUEST NURSING AND REHABILTATION CTR 37,332 30,391 21,626 \$0,00 LITTLE FLOWER MANOR 46,422 38,822 18,788 \$0,00 MADLYN AND LEONARD ARRANSON CENTER 118,584 114,065 75,818 \$0,00 MANDCRARE HEALTH SVCS-KINGSTON COURT 55,266 49,801 22,201 \$0,00 MANORCARE HEALTH SVCS-VIRKINGTON COURT 55,266 49,801 34,432 \$0,00 MANORCARE HEALTH SVCS-VIRKINGTH 59,806 62,825 54,303 \$0,00 MANORCARE HEALTH SVCS-VIRKINGTH 59,806 62,826 54,303 \$0,00 MANORCARE HEALTH SVCS-VIRKINGTH 59,826 56,17 38,683	Neme				O		Total Dayma ant
LAUREL RIDGE CENTRER 22,326 20,574 14,503 \$0.00 LAUREL VIEW VILLAGE 21,960 20,610 7,817 \$0.00 LEHIGH CENTER 46,848 44,427 16,248 \$0.00 LIBERTY NURSING AND REHAB CENTER 54,900 47,644 18,574 \$0.00 LIBERTY NURSING AND REHAB CENTER 51,240 47,490 34,029 \$0.00 UITE FLOWER MANOR CENTER 51,240 47,490 34,029 \$0.00 UITTE FLOWER MANOR CENTER 51,240 47,490 34,029 \$0.00 UITTE FLOWER MANOR CENTER 51,240 47,490 54,029 \$0.00 MADLYN AND LEONARD ABRAMSON CENTER 118,584 114,055 75,818 \$0.00 MALESTIC ONMUNITY AT TELFORD 27,450 26,378 9,808 \$0.00 MADLYN AND LEONARD ABRAMSON CENTER 118,584 114,055 75,818 \$0.00 MADLYN AND LEONARD ABRAMSON CENTER 118,584 114,055 75,818 \$0.00 MANDRCARE HEALTH SVCS-KINGSTON COURT 52,266 49,821 27,201 \$0.00 MANORCARE HEALTH SVCS-KINGSTON COURT 52,266 49,821 27,201 \$0.00 MANORCARE HEALTH SVCS-VORK NORTH 55,266 52,813 33,818 \$0.00 MANORCARE HEALTH SVCS-VORK NORTH 55,266 52,813 33,818 \$0.00 MANORCARE HEALTH SVCS-YORK NORTH 55,260 53,725 28,221 \$0.00 MARGARET E. MOUL HOME 31,755 31,310 24,811 A \$3,88 \$115,336,88 MARIAN MANOR CORPORATION \$6,210 \$3,725 28,221 \$0.00 MARGARET E. MOUL HOME 31,755 31,310 \$2,811 A \$3,88 \$10,331,08 MARIAN MANOR CORPORATION \$6,210 \$3,726 \$2,821 \$0.00 MEMORULAL HULLS MANOR \$1,705 \$1,400 \$1,400 \$0.00 MEMORULAL MALESCENT HOME, INC \$1,786 \$1,570 \$3,388 \$10,031,08 MARAMONO REST HOME, INC \$1,786 \$1,540 \$1,400 \$0.00 MEMORULAL HULLS MANOR \$1,705 \$1,400 \$0,00 MEMORULAL HULLS MANOR \$1,705 \$1,400 \$0,00 MEMORULAL MALESCENTER \$1,800 \$1,400 \$1,400 \$0,00 MEMORULAL MALESCENTER \$1,800 \$1,400 \$1,900 \$0,00 MEMORULAL MALESCENTER \$1,800 \$1,976 \$1,440 \$0,00 MEMORUNAL MANOR NURSING CENTER \$1,800 \$1,577 \$1,936 \$0,00 MEMORUNAL MALESCENTER \$1,530 \$1,900 \$1			,		Group	Per Diem	
LAUREL VIEW VILLAGE 21,960 20,610 7,817 \$0,00 LEHIGH CENTER 46,848 44,27 16,248 \$0,00 LIBERTY COURT, GENESIS HEALTHCARE 54,900 47,644 18,574 \$0,00 LIBERTY NURSING AND REHAB CENTER 54,438 42,518 33,886 \$0,00 LINEQUEST NURSING AND REHAB CENTER 51,240 47,440 34,029 \$0,00 LINWOOD NURSING AND REHABILTATION CTR 37,332 30,391 21,626 \$0,00 LUTTE FLOWER MANOR 44482 38,622 18,788 \$0,00 NAULYN AND LEONARD ABRAMSON CENTER 118,584 114,055 75,818 \$0,00 MADLYN AND LEONARD ABRAMSON CENTER 118,584 114,055 75,818 \$0,00 MANORCARE HEALTH SVCS-KINGSTON COURT 55,266 49,621 27,201 MANORCARE HEALTH SVCS-SHINGSTON COURT 55,266 49,621 27,201 MANORCARE HEALTH SVCS-SHINGSTON COURT 55,266 49,621 27,201 MANORCARE HEALTH SVCS-SHINGSTON COURT 55,266 52,613 33,818 \$0,00 MANORCARE HEALTH SVCS-SHINGSTON COURT 55,266 52,613 33,818 \$0,00 MANORCARE HEALTH SVCS-SHOR SOUTH 55,266 52,613 33,818 \$0,00 MANORCARE HEALTH SVCS-SYORK NORTH 58,226 55,617 38,663 \$0,00 MANORCARE HEALTH SVCS-SYORK NORTH 58,226 55,617 38,663 \$0,00 MARGRARE HEALTH SVCS-SYORK NORTH 58,226 55,617 39,663 \$0,00 MARGRARE HEALTH SVCS-SYORK NORTH 58,226 55,617 39,613 33,818 \$0,00 MARGRARE HEALTH SVCS-SYORK NORTH 58,226 52,613 33,818 \$0,00 MARGRARE HEALTH SVCS-SYORK NORTH 58,226 52,617 39,613 33,818 \$0,00 MARGRARE HEALTH SVCS-SYORK NORTH 58,226 55,71 89,603 \$0,00 MARGRARE HEALTH SVCS-SYORK NORTH 58,226 55,71 89,603 \$0,00 MARGRARE HEALTH SVCS-SYORK NORTH 58,926 55,71 9,359 \$0,00 MARGRAR HEALTH SVCS-SYORK NORTH 58,926 55,917 33,818 \$0,00 MARGRAR HEALTH SVCS-SYORK NORTH 58,926 55,917 33,618 \$0,00 MARGRAR HEALTH SVCS NOR \$0,00 MARGRAR HEAL							
LEHIGH CENTER 46,848 44,427 16,248 \$0.00 LIBERTY COURT. GENESIS HEALTHCARE 54,900 47,649 16,574 \$0.00 LIBERTY CURSING CENTER 51,240 47,490 34,029 \$0.00 LIPEQUEST NURSING CENTER 51,240 47,490 34,029 \$0.00 LITTLE FLOWER MANOR 46,482 38,822 18,788 \$0.00 MADLYN AND LEONARD ABRAMSON CENTER 118,584 114,055 75,818 \$0.00 MANDRCARE HEALTH SVCS-KINGSTON COURT 55,266 49,821 27,201 \$0.00 MANORCARE HEALTH SVCS-KINGSTON COURT 55,266 49,821 27,201 \$0.00 MANORCARE HEALTH SVCS-VORK NORTH 55,266 49,821 38,482 \$0.00 MANORCARE HEALTH SVCS-VORK SOUTH 55,266 52,813 38,482 \$0.00 MANORCARE HEALTH SVCS-VORK SOUTH 55,266 52,151 38,663 \$0.00 MANORCARE HEALTH SVCS-VORK SOUTH 55,266 52,163 33,818 \$15,336 \$14,442 \$0.00 MARIAN MANOR CORPORATION		,					
LIBERTY VICURT, GENESIS HEALTHCARE 54,900 47,644 18,674 \$0,000 LIBERTY VICURSING AND REHAB CENTER 53,436 48,618 33,896 \$0,000 LINWOOD NURSING AND REHAB CENTER 51,240 47,490 34,029 \$0,000 LINWEQUE MANOR 46,482 38,822 18,788 \$0,000 MADLYN AND LEONARD ABRAMSON CENTER 118,584 114,055 75,818 \$0,000 MANDCRARE HEALTH SVCS-KINGSTON COURT 55,266 49,821 27,201 \$0,000 MANORCARE HEALTH SVCS-KINGSTON COURT 55,266 49,821 27,201 \$0,000 MANORCARE HEALTH SVCS-VIGK NORTH 55,266 55,517 38,663 \$0,000 MANORCARE HEALTH SVCS-VORK NORTH 55,266 55,517 38,663 \$0,000 MANORCARE HEALTH SVCS-VORK NORTH 55,266 55,517 38,683 \$10,000 MARGARET E.MOULHOME 30,112 29,817 29,726 \$3,88 \$11,538,88 MARGARET E.MOULHOME 30,122 29,817 29,726 \$4,800 \$0,000 MARANA MANOR CORCOR		-					
LIBERTY NURSING AND REHAB CENTER 53,436 48,518 33,492 \$0.00 LIFEQUEST NURSING AND REHABILITATION CTR 37,332 30,391 21,626 \$0.00 LITTLE FLOWER MANOR 46,482 38,682 18,788 \$0.00 LITTLE FLOWER MANOR 46,482 38,682 18,788 \$0.00 MADLYN AND LEONARD ABRAMSON CENTER 115,584 114,055 75,818 \$0.00 MADCYN AND LEONARD ABRAMSON CENTER 115,584 144,055 75,818 \$0.00 MANORCARE HEALTH SVCS-KINGSTON COURT 55,266 49,821 27,201 \$0.00 MANORCARE HEALTH SVCS-NITTSBURGH 45,108 40,772 20,923 \$0.00 MANORCARE HEALTH SVCS-SHADYSIDE 64,900 48,281 38,402 \$0.00 MANORCARE HEALTH SVCS-VORK NORTH 55,826 55,517 38,663 \$0.00 MANORCARE HEALTH SVCS-YORK NORTH 55,826 52,813 33,818 \$0.00 MARGARET E. MOUL HOME 30,112 9,817 29,224 \$0.00 MARGARET E. MOUL HOME 30,112 32,730		-	-				
LIFEQUEST NURSING CENTER 51.240 47.490 34.029 \$0.00 LINWOOD NURSING AND REHABILITATION CTR 37.332 30.391 21.526 \$0.00 LITTLE FLOWER MANCR 46,422 38,822 18,788 \$0.00 LITTLE FLOWER MANCR 27.450 26.378 9,808 \$0.00 MADLYN AND LCONARD BARMSON CENTER 118,584 114.055 75.818 \$0.00 MANORCARE HEALTH SVCS-KINGSTON COURT 55.266 49.821 27.201 \$0.00 MANORCARE HEALTH SVCS-SHADYSIDE 54.001 40.772 20.923 \$0.00 MANORCARE HEALTH SVCS-SYORK NORTH 55.266 53.024 \$0.00 MANORCARE HEALTH SVCS-YORK NORTH 55.266 28.217 38.818 \$0.00 MANORCARE HEALTH SVCS-YORK NORTH 55.266 28.221 \$0.00 \$0.00 MAROR PERLEMANT SVCS-YORK NORTH 55.266 28.221 \$0.00 \$0.00 MAROR CARE HEALTH SVCS-YORK NORTH 56.210 53.726 28.221 \$0.00 MAROR CARE HEALTH SVCS-YORK SOUTH 35.268 \$11.57 \$3.8		-					
LINWOOD NURSING AND REHABILITATION CTR 37.322 30.391 21.626 \$0.00 LITTLE FLOWER MANOR 46.482 38.822 18.788 \$0.00 MADLTN AND LEONARD ABRAMSON CENTER 118,584 114.055 75.818 \$0.00 MAJESTIC OAKS 65.806 62.925 54.303 C \$1.57 \$85.265.11 MANORCARE HEALTH SVCS-KINGSTON COURT 55.266 49.821 27.201 \$\$0.00 MANORCARE HEALTH SVCS-KINGSTON COURT 55.266 49.821 27.201 \$\$0.00 MANORCARE HEALTH SVCS-VITTSBURGH 81.984 65.486 53.024 \$\$0.00 MANORCARE HEALTH SVCS-VITTSBURGH 81.984 65.486 53.024 \$\$0.00 MANORCARE HEALTH SVCS-VITTSBURGH 81.984 65.486 53.024 \$\$0.00 MANORCARE HEALTH SVCS-VORK NORTH 58.926 55.517 38.663 \$\$0.00 MANORCARE HEALTH SVCS-YORK SOUTH 55.266 52.813 33.818 \$\$0.00 MANORCARE HEALTH SVCS-YORK SOUTH 55.266 53.173 28.217 \$\$0.00 MARGARET E. MOUL HOME 30.012 29.817 29.726 A\$ \$3.88 \$\$115,336.88 MARIAN MANOR CORPORATION 56.210 53.726 28.221 \$\$0.00 MARGARET E. MOUL HOME, INC 71.885 71.310 28.191 A\$ \$3.88 \$\$115,336.88 MARIAN MANOR CORPORATION 55.577 9.359 \$\$0.00 MEADOW VIEW NURSING AND REHAB CENTER 74.000 51.400 37.160 \$\$0.00 MEADOW VIEW NURSING AND REHAB CENTER 74.940 51.400 37.160 \$\$0.00 MEADOW SURSING AND REHAB CENTER 74.450 42.333 27.300 \$\$0.00 MEADOW VIEW NURSING AND REHAB CENTER 74.765 24.140 \$\$0.00 MIFFLIN CENTER 49.776 47.056 24.140 \$\$0.00 MONTH HOPE NAZARENE RETIREMENT COMMUNITY 18.300 17.574 11.476 \$\$0.00 MIMONTAIN LAUREL NRC 57.781 56.810 \$\$0.00 MONTAIN VIEW CARE CENTER 49.776 47.056 24.140 \$\$0.00 MONTAIN VIEW CARE CENTER 49.776 47.056 24.140 \$\$0.00 MONTH HOPE NAZARENE RETIREMENT COMMUNITY 18.300 17.576 11.244 \$\$0.00 ONAMANS CREEK COUNTRY MAN		-					
LITTLE FLOWER MANOR 46,422 38,822 18,788 \$0.00 LUTHERAN COMMUNITY AT TELFORD 27,450 26,378 9,808 \$0.00 MADLYN AND LEONARD ABRAMSON CENTER 118,584 114,055 75,818 \$0.00 MANDCRARE HEALTH SVCS-KINOSTON COURT 55,266 49,821 27,201 \$0.00 MANORCARE HEALTH SVCS-MERCY FITZGERALD 45,018 40,772 20,923 \$0.00 MANORCARE HEALTH SVCS-SHADYSIDE 54,900 48,281 38,432 \$0.00 MANORCARE HEALTH SVCS-SYORK NORTH 59,266 55,517 38,663 \$0.00 MANORCARE HEALTH SVCS-SYORK NORTH 59,266 52,813 38,181 \$0.00 MANORCARE HEALTH SVCS-SYORK SOUTH 55,267 38,663 \$0.00 MARIAN MANOR CORPORATION 52,176 31,310 28,191 \$0.00 MARIAN MANOR CORPORATION 52,176 31,310 28,211 \$0.00 MARY ELLEN CONVALESCENT HOME, INC 17,855 31,310 28,191 \$0.00 MARIAN MANOR CORPORATION 14,209 38,047 29,23		-					
LUTHERAN COMMUNITY AT TELFORD 27,450 26,378 9,808 \$0,00 MADLYN AND LEONARD ABRAMSON CENTER 118,584 114,055 75,818 \$0,00 MAJESTIC OAKS 65,880 62,925 54,303 C \$1,57 \$85,255,711 MANDRCARE HEALTH SVCS-KINOSTON COURT 55,266 49,821 27,21 \$0,00 MANORCARE HEALTH SVCS-PITTSBURGH 81,984 65,486 53,024 \$0,00 MANORCARE HEALTH SVCS-PORK NORTH 58,226 55,517 38,663 \$0,00 MANORCARE HEALTH SVCS-YORK NORTH 58,226 55,517 38,663 \$0,00 MARORCARE HEALTH SVCS-YORK NORTH 58,226 52,813 33,818 \$0,00 MARORCARE HEALTH SVCS-YORK NORTH 58,226 52,813 33,818 \$0,00 MARORCARE HEALTH SVCS-YORK NORTH 58,226 52,813 33,818 \$0,00 MARORAR DERSTOME, INC 31,756 31,736 \$3,80 \$10,90 MAROARD SER TOME, INC 17,855 13,328 9,477 \$0,00 MEADOWINERST HOME, INC 7,865<		-					
NADLIYN AND LEONARD ABRAMSON CENTER 118,584 114,055 75,818 \$0.00 MAJESTIC OAKS 65,800 62,925 54,303 C \$1.57 \$85,255.71 MANDRCARE HEALTH SVCS-KINGSTON COURT 55,266 49,821 27,201 \$0.00 MANORCARE HEALTH SVCS-KINGSTON COURT 55,266 49,821 38,432 \$0.00 MANORCARE HEALTH SVCS-SHADYSIDE 54,000 48,281 38,432 \$0.00 MANORCARE HEALTH SVCS-YORK NORTH 55,266 52,813 33,618 \$0.00 MANORCARE HEALTH SVCS-YORK NORTH 55,266 52,813 33,618 \$0.00 MARORCARE HEALTH SVCS-YORK NORTH 55,267 38,647 \$29,267 \$0.00 MARGARET E. MOUL HOME 30,012 29,817 \$29,766 \$3,88 \$115,38,88 MARIAN MANOR CORPORATION 56,210 53,726 28,221 \$0.00 \$0.00 MARY ELLEN CONVALESCENT HOME, INC 17,755 31,310 29,477 \$0.00 \$0.00 MEADOWCREST NURSING CENTER 14,900 15,577 9,359 \$0.00<		-	-				
MAJESTIC OAKS 66,880 62,925 54,303 C \$1.57 \$85,255,71 MANORCARE HEALTH SVCS-KINGSON COURT 55,266 49,821 27,201 \$0.00 MANORCARE HEALTH SVCS-MERCY FITZGERALD 45,018 40,772 20,923 \$0.00 MANORCARE HEALTH SVCS-MERCY FITZGERALD 45,018 40,772 20,923 \$0.00 MANORCARE HEALTH SVCS-VORK NORTH 58,926 55,517 38,663 \$0.00 MANORCARE HEALTH SVCS-YORK NORTH 58,266 52,813 33,818 \$0.00 MARORCARE HEALTH SVCS-YORK NORTH 59,266 52,813 33,818 \$0.00 MARORCARE HEALTH SVCS-YORK NORTH 59,266 52,813 33,818 \$0.00 MARORCARE HEALTH SVCS-YORK NORTH 53,276 28,211 \$0.00 \$0.00 MARANDAND CORPORATION 51,210 53,726 28,211 \$0.00 \$0.00 MARWODO REST HOME, INC 17,855 13,330 24,171 \$0.38 \$109,381.08 \$0.00 MCMURAY HILLS MANOR 42,090 36,047 22,239 \$0.00		-					
MANORCARE HEALTH SVCS-KINGSTON COURT 55,266 49,821 27,201 \$0.00 MANORCARE HEALTH SVCS-MERCY FITZGERALD 45,018 40,772 20,923 \$0.00 MANORCARE HEALTH SVCS-PITTSBURGH 81,948 65,486 53,024 \$0.00 MANORCARE HEALTH SVCS-YORK NORTH 56,926 52,517 33,863 \$0.00 MANORCARE HEALTH SVCS-YORK NORTH 56,926 52,813 33,818 \$0.00 MANORCARE HEALTH SVCS-YORK SOUTH 55,266 52,813 33,818 \$0.00 MARCARET E. MOUL HOME 30,012 29,817 29,726 A \$3,88 \$115,336.88 MARIAN MANOR CORPORATION 56,210 53,726 28,221 \$0.00 MARY ELLEN COUVALESCENT HOME, INC 17,755 13,310 28,191 A \$3,88 \$10,9381.08 MARY ELLEN COUVALESCENT HOME, INC 17,875 13,238 9,477 29,239 \$0.00 MEADOW VIEW NURSING CENTER 16,900 51,577 9,359 \$0.00 MEADOWSNURSING AND REHAB CENTER 47,450 42,333 27,300		-			<u> </u>	¢4 57	
MANORCARE HEALTH SVCS-MERCY FITZGERALD 45,018 40,772 20,923 \$0.00 MANORCARE HEALTH SVCS-PITTSBURGH 81,984 65,486 53,024 \$0.00 MANORCARE HEALTH SVCS-SHADVSIDE 54,900 48,281 38,432 \$0.00 MANORCARE HEALTH SVCS-SORK NORTH 55,266 52,813 33,818 \$0.00 MANORCARE HEALTH SVCS-YORK SOUTH 55,266 52,813 33,818 \$115,716 14,442 \$0.00 MARIAN MANOR CORPORTION 56,210 53,726 28,221 \$0.00 MARIAN MANOR CORPORTION 56,210 53,726 28,21 \$0.00 MARWOOD REST HOME, INC 17,855 31,310 28,191 A \$3.88 \$109,381.08 MARW PELLEN CONVALESCENT HOME, INC 17,855 31,323 9,477 \$0.00 \$0.00 MEADOW SNURSING CENTER 45,490 31,416 \$0.00 \$0.00 MEADOWS NURSING CENTER 47,450 42,333 27,300 \$0.00 MEADOWS NURSING AND REHAB CENTER 47,056 44,943 \$0.00 \$0.00		-	-		C	\$1.5 <i>1</i>	
MANORCARE HEALTH SVCS-PITTSBURGH 81,984 65,486 53,024 \$0.00 MANORCARE HEALTH SVCS-SHADVSIDE 54,900 48,221 38,432 \$0.00 MANORCARE HEALTH SVCS-YORK NORTH 55,266 52,813 33,818 \$0.00 MANORCARE HEALTH SVCS-YORK SOUTH 55,266 52,813 33,818 \$0.00 MARCARET E. MOUL HOME 30,012 29,817 29,726 A \$3.88 \$115,336.88 MARIAN MANOR CORPORATION 56,210 53,726 28,221 \$0.00 MARWOOD REST HOME, INC 17,885 13,238 9,477 \$0.00 MCMURRAY HILLS MANOR 42,090 36,047 29,239 \$0.00 MEADOW VIEW NURSING CENTER 18,300 15,577 9,359 \$0.00 MEADOW SURSING AND REHAB CENTER 47,450 42,333 27,300 \$0.00 MEMORIAL HOSPITAL INC SNU 24,888 22,770 18,099 \$0.00 MENONITE HOME, THE 69,540 65,413 32,608 \$0.00 MENORIAL HOSPITAL INC SNU 24,888 22,770		-	-				
MANORCARE HEALTH SVCS-SHADYSIDE 54,900 48,281 38,432 \$0.00 MANORCARE HEALTH SVCS-YORK NORTH 55,266 55,517 38,663 \$0.00 MANORCARE HEALTH SVCS-YORK SOUTH 55,266 52,813 33,818 \$0.00 MARIAN MANOR CORPORATION 56,210 53,726 28,211 \$0.00 MARIAN MANOR CORPORATION 56,210 53,726 28,211 \$0.00 MARWOOD REST HOME, INC 17,855 31,310 28,191 A \$3,88 \$109,381.08 MARW ANOR CROPORATION 56,210 53,726 28,211 \$0.00 MCMURRAY HILLS MANOR 42,090 38,047 29,239 \$0.00 MEADOW VIEW NURSING CENTER 14,400 \$1,490 37,160 \$0.00 MEADOW SURSING ADD REHAB CENTER 47,450 42,333 27,300 \$0.00 MEADOWS NURSING ADD REHAB CENTER 47,450 42,333 27,300 \$0.00 MESIAH LIFEWAYS AT MESSIAH VILLAGE 67,444 64,469 14,912 \$0.00 MIFFLIN CENTER 49,776		-					
MANORCARE HEALTH SVCS-YORK NORTH 58,926 55,517 38,663 \$0.00 MANORCARE HEALTH SVCS-YORK SOUTH 55,266 52,813 33,818 \$0.00 MARQRAET F. MOUL HOME 30,012 29,817 29,726 A \$3.88 \$115,336.88 MARIAN MANOR CORPORATION 56,210 53,726 26,221 \$0.00 MARWOOD REST HOME, INC 17,755 31,310 28,191 A \$3.88 \$109,381.08 MARW YELLEN CONVALESCENT HOME, INC 17,885 13,238 9,477 \$0.00 MCMURRAY HILLS MANOR 42,090 38,047 29,239 \$0.00 MEADOW VIEW NURSING CENTER 14,900 51,490 37,160 \$0.00 MEADOW VIEW NURSING CENTER 47,450 42,333 27,300 \$0.00 MEMORIAL HOSPITAL INC SNU 24,88 22,770 18,099 \$0.00 MEMORIAL HOSPITAL INC SNU 24,88 22,770 18,099 \$0.00 MIESIAH LIFEWAYS AT MESSIAH VILLAGE 67,344 61,869 14,912 \$0.00 MIFLIN CENTER		-					
MANORCARE HEALTH SVCS-YORK SOUTH 55,266 52,813 33,818 \$0.00 MAPLE FARM 33,918 15,716 14,442 \$0.00 MARGARE TE. MOUL HOME 30,012 29,817 29,726 A \$3.88 \$115,336.88 MARIAN MANOR CORPORATION 56,210 53,726 28,221 \$0.00 MARW FELLEN CONVALESCENT HOME, INC 17,855 13,310 28,191 A \$3.88 \$109,381.08 MARY FELLEN CONVALESCENT HOME, INC 17,855 13,238 9,477 \$0.00 MCMURRAY HILLS MANOR 42,090 38,047 29,239 \$0.00 MEADOW VIEW NURSING CENTER 54,900 51,490 37,160 \$0.00 MEADOWS NURSING AND REHAB CENTER 47,450 42,333 27,300 \$0.00 MENNONITE HOME, THE 69,540 65,413 32,608 \$0.00 MESIAH LIFEWAYS AT MESSIAH VILLAGE 67,344 61,869 14,912 \$0.00 MILLCREK MANOR 18,300 17,754 11,476 \$0.00 MORAVIAN HALL SO. HLTH AND WELLNESS CTR		-					
MAPLE FARM 33,918 15,716 14,442 \$0.00 MARCARET F. MOUL HOME 30,012 29,817 29,726 A \$3.88 \$115,336.88 MARIAN MANOR CORPORATION 56,210 53,726 28,221 \$0.00 MARWODD REST HOME, INC 17,855 31,310 28,191 A \$3.88 \$109,381.08 MARY FLLEN CONVALESCENT HOME, INC 17,885 13,238 9,477 \$0.00 MCMURRAY HILLS MANOR 42,090 38,047 29,239 \$0.00 MEADOW VIEW NURSING CENTER 18,300 15,577 9,359 \$0.00 MEADOWS NURSING AND REHAB CENTER 47,450 42,333 27,300 \$0.00 MEMORIAL HOSPITAL INC SNU 24,888 22,770 18,099 \$0.00 MIESIAH LIFEWAYS AT MESSIAH VILLAGE 67,344 61,869 14,912 \$0.00 MILCREEK MANOR 18,300 17,574 11,476 \$0.00 MOURT HOME, THE 69,540 65,213 31,64 \$0.00 MILCREK MANOR 18,300 17,574		-					
MARGARET E. MOUL HOME 30,012 29,817 29,726 A \$3.88 \$115,336.88 MARIAN MANOR CORPORATION 56,210 53,726 28,221 50.00 MARWOOD REST HOME, INC 31,755 31,310 28,191 A \$3.88 \$109,381.08 MARY ELLEN CONVALESCENT HOME, INC 17,855 13,238 9,477 \$0.00 MCMURRAY HILLS MANOR 42,090 38,047 29,239 \$0.00 MEADOW VIEW NURSING CENTER 18,300 15,577 9,359 \$0.00 MEADOWCREST NURSING CENTER 18,300 15,577 9,359 \$0.00 MEMONITE HOME, THE 69,540 65,413 32,608 \$0.00 MENNONITE HOME, THE 69,540 65,413 32,608 \$0.00 MILLCREEK MANOR 18,300 17,574 11,476 \$0.00 MOSASER NURSING HOME 21,960 20,526 11,244 \$0.00 MOUNT HOPE NAZARENE RETIREMENT COMMUNITY 18,300 17,574 11,476 \$0.00 MOUNT MACRINA MANOR NURSING HOME 50,870		-					
MARIAN MANOR CORPORATION 56,210 53,726 28,221 \$0.00 MARWODD REST HOME, INC 31,755 31,310 28,191 A \$3.88 \$109,381.08 MARY ELLER CONVALESCENT HOME, INC 17,885 13,238 9,477 \$0.00 MCMURRAY HILLS MANOR 42,090 38,047 29,239 \$0.00 MEADOW VIEW NURSING CENTER 54,900 51,490 37,160 \$0.00 MEADOWS NURSING CENTER 18,300 15,577 9,359 \$0.00 MEADOWS NURSING AND REHAB CENTER 47,450 42,333 27,300 \$0.00 MENDONITE HOME, THE 69,540 66,413 32,608 \$0.00 MIESSIAH LIFEWAYS AT MESSIAH VILLAGE 67,344 61,869 14,912 \$0.00 MIFLIN CENTER 49,776 47,056 24,140 \$0.00 MORAVIAN HALL SQ. HLTH AND WELLNESS CTR 22,326 21,059 3,368 \$0.00 MOUNT MACRINA MANOR NURSING HOME 50,874 48,046 33,104 \$0.00 MOUNT MACRINA MANOR NURSING HOME 50,870 7,		-	-			AA AA	
MARWOOD REST HOME, INC 31,755 31,310 28,191 A \$3.88 \$109,381.08 MARY ELLEN CONVALESCENT HOME, INC 17,885 13,238 9,477 \$0.00 MCMURRAY HILLS MANOR 42,090 38,047 29,239 \$0.00 MEADOW VIEW NURSING CENTER 54,900 51,440 37,160 \$0.00 MEADOWS NURSING AND REHAB CENTER 47,450 42,333 27,300 \$0.00 MEMODITEL INC SNU 24,888 22,770 18,099 \$0.00 MENNONITE HOME, THE 69,540 65,413 32,608 \$0.00 MENNONITE HOME, THE 49,776 47,056 24,140 \$0.00 MILLCREEK MANOR 18,300 17,574 11,476 \$0.00 MORAVIAN HALL SQ, HLTH AND WELLNESS CTR 22,326 21,059 3,368 \$0.00 MOUNT MORNING NURSING HOME 21,960 20,526 11,244 \$0.00 MOUNT MACRINA MANOR NURSING HOME 50,874 48,046 33,104 \$0.00 MOUNTAIN LAUREL INC 87,840 77,381 56,810 </td <td></td> <td>-</td> <td>-</td> <td></td> <td>A</td> <td>\$3.88</td> <td></td>		-	-		A	\$3.88	
MARY ELLEN CONVALESCENT HOME, INC 17,885 13,238 9,477 \$0.00 MCMURRAY HILLS MANOR 42,090 38,047 29,239 \$0.00 MEADOW VIEW NURSING CENTER 54,900 51,490 37,160 \$0.00 MEADOWCREST NURSING CENTER 18,300 15,577 9,359 \$0.00 MEADOWCREST NURSING AND REHAB CENTER 47,450 42,333 27,300 \$0.00 MENORIAL HOSPITAL INC SNU 24,888 22,770 18,099 \$0.00 MESIAH LIFEWAYS AT MESSIAH VILLAGE 67,344 61,869 14,912 \$0.00 MIESIAH LIFEWAYS AT MESSIAH VILLAGE 67,344 61,869 14,912 \$0.00 MILLCREEK MANOR 17,574 11,476 \$0.00 \$0.00 MORAVIAN HALL SO. HLTH AND WELLNESS CTR 22,326 11,244 \$0.00 \$0.00 MOUNT MOR NURSING HOME 21,960 20,526 11,244 \$0.00 \$0.00 MOUNT MACRINA MANOR NURSING HOME 50,817 48,046 33,104 \$0.00 \$0.00 MOUNT MACRINA MANOR NURSING HOME 50,8		-	-				
MCMURRAY HILLS MANOR 42,090 38,047 29,239 \$0.00 MEADOW VIEW NURSING CENTER 54,900 51,490 37,160 \$0.00 MEADOWS NURSING CENTER 18,300 15,577 9,359 \$0.00 MEADOWS NURSING AND REHAB CENTER 47,450 42,333 27,300 \$0.00 MEMORIAL HOSPITAL INC SNU 24,888 22,770 18,099 \$0.00 MENNONITE HOME, THE 69,540 65,413 32,608 \$0.00 MIFELIN CENTER 49,776 47,056 24,140 \$0.00 MILLCREEK MANOR 18,300 17,574 11,476 \$0.00 MORAVIAN HALL SQ. HLTH AND WELLNESS CTR 22,326 21,960 20,526 11,244 \$0.00 MOUNT HOPE NAZARENE RETIREMENT COMMUNITY 18,300 17,574 11,476 \$0.00 MOUNT MACRINA MANOR NURSING HOME 50,874 48,046 33,104 \$0.00 MOUNT MACRINA MANOR NURSING HOME 50,874 48,046 33,104 \$0.00 MOUNT MACRINA MANOR NURSING HOME 50,800 63,243 37		-	-		A	\$3.88	
MEADOW VIEW NURSING CENTER 54,900 51,490 37,160 \$0.00 MEADOWCREST NURSING CENTER 18,300 15,577 9,359 \$0.00 MEADOWS NURSING AND REHAB CENTER 47,450 42,333 27,300 \$0.00 MEMORIAL HOSPITAL INC SNU 24,888 22,770 18,099 \$0.00 MENNONITE HOME, THE 69,540 65,413 32,608 \$0.00 MESSIAH LIFEWAYS AT MESSIAH VILLAGE 67,344 61,869 14,912 \$0.00 MIERLICREK MANOR 18,000 17,574 11,476 \$0.00 MORAVIAN HALL SQ. HLTH AND WELLNESS CTR 22,326 21,059 3,368 \$0.00 MOUNT HOPE NAZARENE RETIREMENT COMMUNITY 18,300 17,956 14,930 E \$0.49 \$7,315.70 MOUNT MACRINA MANOR NURSING HOME 50,874 48,046 33,104 \$0.00 \$0.00 MOUNTAIN LAUREL NRC 87,840 77,381 56,810 \$0.00 MOUNTAIN VIEW CARE CENTER 61,802 31,976 \$0.00 NAAMANS CREEK COUNTRY MANOR 32,940	-	-	-				
MEADOWCREST NURSING CENTER 18,300 15,577 9,359 \$0.00 MEADOWS NURSING AND REHAB CENTER 47,450 42,333 27,300 \$0.00 MEMORIAL HOSPITAL INC SNU 24,888 22,770 18,099 \$0.00 MENNONITE HOME, THE 69,540 65,413 32,608 \$0.00 MESSIAH LIFEWAYS AT MESSIAH VILLAGE 67,344 61,869 14,912 \$0.00 MILCREEK MANOR 18,300 17,574 11,476 \$0.00 MORAVIAN HALL SQ. HLTH AND WELLNESS CTR 22,326 21,059 3,368 \$0.00 MOUNT HOPE NAZARENE RETIREMENT COMMUNITY 18,300 17,956 14,930 E \$0.49 \$7,315.70 MOUNT MACRINA MANOR NURSING HOME 50,874 48,046 33,104 \$0.00 \$0.00 MOUNTAIN LAUREL NRC 87,840 77,381 56,810 \$0.00 \$0.00 MOUNTAIN VIEW CARE CENTER 65,880 63,243 37,203 \$0.00 \$0.00 NUNCY VALLEY HOSPITAL SNU 50,370 46,502 31,976 \$0.00 \$0.00		,					
MEADOWS NURSING AND REHAB CENTER 47,450 42,333 27,300 \$0.00 MEMORIAL HOSPITAL INC SNU 24,888 22,770 18,099 \$0.00 MENNONITE HOME, THE 69,540 65,413 32,608 \$0.00 MESSIAH LIFEWAYS AT MESSIAH VILLAGE 67,344 61,869 14,912 \$0.00 MIFFLIN CENTER 49,776 47,056 24,140 \$0.00 MILLCREEK MANOR 18,300 17,574 11,476 \$0.00 MORAVIAN HALL SQ. HLTH AND WELLNESS CTR 22,326 21,059 3,368 \$0.00 MOUNT HOPE NAZARENE RETIREMENT COMMUNITY 18,300 17,956 14,930 E \$0.49 \$7,315.70 MOUNT MACRINA MANOR NURSING HOME 50,874 48,046 33,104 \$0.00 \$0.00 MOUNTAIN LAUREL NRC 87,400 77,381 56,810 \$0.00 \$0.00 MOUNTAIN VIEW CARE CENTER 65,880 63,243 37,203 \$0.00 \$0.00 NORTH HILLS HEALTH AND REHAB CENTER 17,568 15,331 6,936 \$0.00 \$0.00		-					
MEMORIAL HOSPITAL INC SNU 24,888 22,770 18,099 \$0.00 MENNONITE HOME, THE 69,540 65,413 32,608 \$0.00 MESSIAH LIFEWAYS AT MESSIAH VILLAGE 67,344 61,869 14,912 \$0.00 MIFFLIN CENTER 49,776 47,056 24,140 \$0.00 MILCREEK MANOR 18,300 17,574 11,476 \$0.00 MORAVIAN HALL SQ. HLTH AND WELLNESS CTR 22,326 21,059 3,368 \$0.00 MOUNT HOPE NAZARENE RETIREMENT COMMUNITY 18,300 17,956 14,930 E \$0.49 \$7,315.70 MOUNT HOPE NAZARENE RETIREMENT COMMUNITY 18,300 17,956 14,930 E \$0.49 \$7,315.70 MOUNT MACRINA MANOR NURSING HOME 50,874 48,046 33,104 \$0.00 \$0.00 MOUNTAIN LAUREL NRC 65,880 63,243 37,203 \$0.00 \$0.00 MOUNTY VALLEY HOSPITAL SNU 50,370 46,502 31,976 \$0.00 \$0.00 NARAMANS CREEK COUNTRY MANOR 32,940 30,468 5,840		-					
MENNONITE HOME, THE 69,540 65,413 32,608 \$0.00 MESSIAH LIFEWAYS AT MESSIAH VILLAGE 67,344 61,869 14,912 \$0.00 MIFLIN CENTER 49,776 47,056 24,140 \$0.00 MILLCREEK MANOR 18,300 17,574 11,476 \$0.00 MORAVIAN HALL SQ. HLTH AND WELLNESS CTR 22,326 21,059 3,368 \$0.00 MOSSER NURSING HOME 21,960 20,526 11,244 \$0.00 MOUNT HOPE NAZARENE RETIREMENT COMMUNITY 18,300 17,956 14,930 E \$0.49 \$7,315.70 MOUNT MACRINA MANOR NURSING HOME 50,874 48,046 33,104 \$0.00 \$0.00 MOUNTAIN LAUREL NRC 87,840 77,381 56,810 \$0.00 \$0.00 MUNCY VALLEY HOSPITAL SNU 50,377 46,502 31,976 \$0.00 \$0.00 NAAMANS CREEK COUNTRY MANOR 32,940 30,468 15,840 \$0.00 \$0.00 OAK HILL NURSING AND REHAB CENTER 17,568 15,331 6,936 \$0.00 \$0.00<		-					
MESSIAH LIFEWAYS AT MESSIAH VILLAGE 67,344 61,869 14,912 \$0.00 MIFFLIN CENTER 49,776 47,056 24,140 \$0.00 MILLCREEK MANOR 18,300 17,574 11,476 \$0.00 MORAVIAN HALL SQ. HLTH AND WELLNESS CTR 22,326 21,059 3,368 \$0.00 MOSSER NURSING HOME 21,960 20,526 11,244 \$0.00 MOUNT HOPE NAZARENE RETIREMENT COMMUNITY 18,300 17,956 14,930 E \$0.49 \$7,315.70 MOUNT MACRINA MANOR NURSING HOME 50,874 48,046 33,104 \$0.00 MOUNTAIN LAUREL NRC 87,840 77,381 56,810 \$0.00 MOUNTAIN VIEW CARE CENTER 65,880 63,243 37,203 \$0.00 NUNCY VALLEY HOSPITAL SNU 50,370 46,502 31,976 \$0.00 NAAMANS CREEK COUNTRY MANOR 32,940 30,468 15,840 \$0.00 OAK HILL NURSING AND REHAB CENTER 20,130 16,917 7,600 \$0.00 OAKWOOD HEALTHCARE & REHABILITATION CTR 54,356		-					
MIFFLIN CENTER 49,776 47,056 24,140 \$0.00 MILLCREEK MANOR 18,300 17,574 11,476 \$0.00 MORAVIAN HALL SQ. HLTH AND WELLNESS CTR 22,326 21,059 3,368 \$0.00 MOSSER NURSING HOME 21,960 20,526 11,244 \$0.00 MOUNT HOPE NAZARENE RETIREMENT COMMUNITY 18,300 17,956 14,930 E \$0.49 \$7,315.70 MOUNT HOPE NAZARENE RETIREMENT COMMUNITY 18,300 17,956 14,930 E \$0.49 \$7,315.70 MOUNT MACRINA MANOR NURSING HOME 50,874 48,046 33,104 \$0.00 MOUNTAIN LAUREL NRC 87,840 77,381 56,810 \$0.00 MUNCY VALLEY HOSPITAL SNU 50,370 46,502 31,976 \$0.00 NAAMANS CREEK COUNTRY MANOR 32,940 30,468 15,840 \$0.00 NAAMANS CREEK COUNTRY MANOR 32,940 30,468 34,445 \$0.00 OAK HILL NURSING AND REHAB CENTER 20,130 16,917 7,600 \$0.00 OAKWOOD HEALTHCARE		-					
MILLCREEK MANOR 18,300 17,574 11,476 \$0.00 MORAVIAN HALL SQ. HLTH AND WELLNESS CTR 22,326 21,059 3,368 \$0.00 MOSSER NURSING HOME 21,960 20,526 11,244 \$0.00 MOUNT HOPE NAZARENE RETIREMENT COMMUNITY 18,300 17,956 14,930 E \$0.49 \$7,315.70 MOUNT MACRINA MANOR NURSING HOME 50,874 48,046 33,104 \$0.00 MOUNTAIN LAUREL NRC 87,840 77,381 56,810 \$0.00 MOUNTAIN VIEW CARE CENTER 65,880 63,243 37,203 \$0.00 MUNCY VALLEY HOSPITAL SNU 50,370 46,502 31,976 \$0.00 NAAMANS CREEK COUNTRY MANOR 32,940 30,468 15,840 \$0.00 NORTH HILLS HEALTH AND REHAB CENTER 17,568 15,331 6,936 \$0.00 OAK WOOD HEALTHCARE & REHABILITATION CTR 54,168 48,068 34,445 \$0.00 ORCHARD MANOR, INC 44,286 42,800 28,272 \$0.00 ORWIGSBURG CENTER 47,580 43,596 28,231 \$0.00 OSPREY RIDGE HEALTHCARE AND REHAB CENT		-					
MORAVIAN HALL SQ. HLTH AND WELLNESS CTR 22,326 21,059 3,368 \$0.00 MOSSER NURSING HOME 21,960 20,526 11,244 \$0.00 MOUNT HOPE NAZARENE RETIREMENT COMMUNITY 18,300 17,956 14,930 E \$0.49 \$7,315.70 MOUNT MACRINA MANOR NURSING HOME 50,874 48,046 33,104 \$0.00 MOUNTAIN LAUREL NRC 87,840 77,381 56,810 \$0.00 MOUNTAIN VIEW CARE CENTER 65,880 63,243 37,203 \$0.00 MUNCY VALLEY HOSPITAL SNU 50,370 46,502 31,976 \$0.00 NAAMANS CREEK COUNTRY MANOR 32,940 30,468 15,840 \$0.00 NORTH HILLS HEALTH AND REHAB CENTER 20,130 16,917 7,600 \$0.00 OAK HILL NURSING AND REHAB CENTER 17,568 15,331 6,936 \$0.00 OAKWOOD HEALTHCARE & REHABILITATION CTR \$4,168 48,068 34,445 \$0.00 ORCHARD MANOR, INC 44,286 42,800 28,272 \$0.00 ORWIGSBURG CENTER 47,580 <td></td> <td>-</td> <td></td> <td></td> <td></td> <td></td> <td></td>		-					
MOSSER NURSING HOME 21,960 20,526 11,244 \$0.00 MOUNT HOPE NAZARENE RETIREMENT COMMUNITY 18,300 17,956 14,930 E \$0.49 \$7,315.70 MOUNT MACRINA MANOR NURSING HOME 50,874 48,046 33,104 \$0.00 MOUNTAIN LAUREL NRC 87,840 77,381 56,810 \$0.00 MOUNTAIN VIEW CARE CENTER 65,880 63,243 37,203 \$0.00 MUNCY VALLEY HOSPITAL SNU 50,370 46,502 31,976 \$0.00 NAAMANS CREEK COUNTRY MANOR 32,940 30,468 15,840 \$0.00 NORTH HILLS HEALTH AND REHAB CENTER 20,130 16,917 7,600 \$0.00 OAK WOOD HEALTHCARE & REHABILITATION CTR 54,168 48,068 34,445 \$0.00 ORCHARD MANOR, INC 44,286 42,800 28,272 \$0.00 \$0.00 ORWIGSBURG CENTER 47,580 43,596 28,231 \$0.00 \$0.00 ORWIGSBURG CENTER 47,580 43,596 28,231 \$0.00 \$0.00 OSPREY RIDG							
MOUNT HOPE NAZARENE RETIREMENT COMMUNITY 18,300 17,956 14,930 E \$0.49 \$7,315.70 MOUNT MACRINA MANOR NURSING HOME 50,874 48,046 33,104 \$0.00 MOUNT AIN LAUREL NRC 87,840 77,381 56,810 \$0.00 MOUNTAIN VIEW CARE CENTER 65,880 63,243 37,203 \$0.00 MUNCY VALLEY HOSPITAL SNU 50,370 46,502 31,976 \$0.00 NAAMANS CREEK COUNTRY MANOR 32,940 30,468 15,840 \$0.00 NORTH HILLS HEALTH AND REHAB CENTER 20,130 16,917 7,600 \$0.00 OAK WOOD HEALTHCARE & REHABILITATION CTR 54,168 48,068 34,445 \$0.00 ORCHARD MANOR, INC 44,286 42,800 28,272 \$0.00 ORWIGSBURG CENTER 47,580 43,596 28,231 \$0.00 OSPREY RIDGE HEALTHCARE AND REHAB CENTER 29,646 26,902 22,096 E \$0.49 \$10,827.04 PASSAVANT RETIREMENT AND HEALTH CENTER 57,828 48,679 25,347 \$0.00		-					
MOUNT MACRINA MANOR NURSING HOME 50,874 48,046 33,104 \$0.00 MOUNTAIN LAUREL NRC 87,840 77,381 56,810 \$0.00 MOUNTAIN VIEW CARE CENTER 65,880 63,243 37,203 \$0.00 MUNCY VALLEY HOSPITAL SNU 50,370 46,502 31,976 \$0.00 NAAMANS CREEK COUNTRY MANOR 32,940 30,468 15,840 \$0.00 NORTH HILLS HEALTH AND REHAB CENTER 20,130 16,917 7,600 \$0.00 OAK WOOD HEALTHCARE & REHABILITATION CTR 54,168 48,068 34,445 \$0.00 ORCHARD MANOR, INC 44,286 42,800 28,272 \$0.00 ORWIGSBURG CENTER 47,580 43,596 28,231 \$0.00 OSPREY RIDGE HEALTHCARE AND REHAB CENTER 29,646 26,902 22,096 E \$0.49 \$10,827.04 PASSAVANT RETIREMENT AND HEALTH CENTER 57,828 48,679 25,347 \$0.00 PAVILION AT BRMC 34,770 31,731 23,047 \$0.00 PAWBROOKE HEALTH AND REHAB RESIDENCE 65,880 61,352 48,937 F \$0.35 \$17,127.95 <		-					
MOUNTAIN LAUREL NRC 87,840 77,381 56,810 \$0.00 MOUNTAIN VIEW CARE CENTER 65,880 63,243 37,203 \$0.00 MUNCY VALLEY HOSPITAL SNU 50,370 46,502 31,976 \$0.00 NAAMANS CREEK COUNTRY MANOR 32,940 30,468 15,840 \$0.00 NORTH HILLS HEALTH AND REHAB CENTER 20,130 16,917 7,600 \$0.00 OAK HILL NURSING AND REHAB CENTER 17,568 15,331 6,936 \$0.00 OAKWOOD HEALTHCARE & REHABILITATION CTR 54,168 48,068 34,445 \$0.00 ORCHARD MANOR, INC 44,286 42,800 28,272 \$0.00 OSPREY RIDGE HEALTHCARE AND REHAB CENTER 29,646 26,902 22,096 E \$0.49 \$10,827.04 PASSAVANT RETIREMENT AND HEALTH CENTER 57,828 48,679 25,347 \$0.00 PAVILION AT BRMC 34,770 31,731 23,047 \$0.00 PEMBROOKE HEALTH AND REHAB RESIDENCE 65,880 61,352 48,937 F \$0.35 \$17,127.95		-			Е	\$0.49	
MOUNTAIN VIEW CARE CENTER 65,880 63,243 37,203 \$0.00 MUNCY VALLEY HOSPITAL SNU 50,370 46,502 31,976 \$0.00 NAAMANS CREEK COUNTRY MANOR 32,940 30,468 15,840 \$0.00 NORTH HILLS HEALTH AND REHAB CENTER 20,130 16,917 7,600 \$0.00 OAK HILL NURSING AND REHAB CENTER 17,568 15,331 6,936 \$0.00 OAKWOOD HEALTHCARE & REHABILITATION CTR 54,168 48,068 34,445 \$0.00 ORCHARD MANOR, INC 44,286 42,800 28,272 \$0.00 OSPREY RIDGE HEALTHCARE AND REHAB CENTER 29,646 26,902 22,096 E \$0.49 \$10,827.04 PASSAVANT RETIREMENT AND HEALTH CENTER 57,828 48,679 25,347 \$0.00 PAVILION AT BRMC 34,770 31,731 23,047 \$0.00 PEMBROOKE HEALTH AND REHAB RESIDENCE 65,880 61,352 48,937 \$17,127.95		-					
MUNCY VALLEY HOSPITAL SNU 50,370 46,502 31,976 \$0.00 NAAMANS CREEK COUNTRY MANOR 32,940 30,468 15,840 \$0.00 NORTH HILLS HEALTH AND REHAB CENTER 20,130 16,917 7,600 \$0.00 OAK HILL NURSING AND REHAB CENTER 17,568 15,331 6,936 \$0.00 OAKWOOD HEALTHCARE & REHABILITATION CTR 54,168 48,068 34,445 \$0.00 ORCHARD MANOR, INC 44,286 42,800 28,272 \$0.00 ORWIGSBURG CENTER 47,580 43,596 28,231 \$0.00 OSPREY RIDGE HEALTHCARE AND REHAB CENTER 29,646 26,902 22,096 E \$0.49 \$10,827.04 PASSAVANT RETIREMENT AND HEALTH CENTER 57,828 48,679 25,347 \$0.00 PAVILION AT BRMC 34,770 31,731 23,047 \$0.00 PEMBROOKE HEALTH AND REHAB RESIDENCE 65,880 61,352 48,937 F \$0.35 \$17,127.95	MOUNTAIN LAUREL NRC	87,840		56,810			
NAAMANS CREEK COUNTRY MANOR 32,940 30,468 15,840 \$0.00 NORTH HILLS HEALTH AND REHAB CENTER 20,130 16,917 7,600 \$0.00 OAK HILL NURSING AND REHAB CENTER 17,568 15,331 6,936 \$0.00 OAK WOOD HEALTHCARE & REHABILITATION CTR 54,168 48,068 34,445 \$0.00 ORCHARD MANOR, INC 44,286 42,800 28,272 \$0.00 ORWIGSBURG CENTER 47,580 43,596 28,231 \$0.00 OSPREY RIDGE HEALTHCARE AND REHAB CENTER 29,646 26,902 22,096 E \$0.49 \$10,827.04 PASSAVANT RETIREMENT AND HEALTH CENTER 57,828 48,679 25,347 \$0.00 PAVILION AT BRMC 34,770 31,731 23,047 \$0.00 PEMBROOKE HEALTH AND REHAB RESIDENCE 65,880 61,352 48,937 F \$0.35 \$17,127.95		,					
NORTH HILLS HEALTH AND REHAB CENTER 20,130 16,917 7,600 \$0.00 OAK HILL NURSING AND REHAB CENTER 17,568 15,331 6,936 \$0.00 OAKWOOD HEALTHCARE & REHABILITATION CTR 54,168 48,068 34,445 \$0.00 ORCHARD MANOR, INC 44,286 42,800 28,272 \$0.00 ORWIGSBURG CENTER 47,580 43,596 28,231 \$0.00 OSPREY RIDGE HEALTHCARE AND REHAB CENTER 29,646 26,902 22,096 E \$0.49 \$10,827.04 PASSAVANT RETIREMENT AND HEALTH CENTER 57,828 48,679 25,347 \$0.00 PAVILION AT BRMC 34,770 31,731 23,047 \$0.00 PEMBROOKE HEALTH AND REHAB RESIDENCE 65,880 61,352 48,937 F \$0.35 \$17,127.95	MUNCY VALLEY HOSPITAL SNU	50,370	46,502	31,976			
OAK HILL NURSING AND REHAB CENTER 17,568 15,331 6,936 \$0.00 OAKWOOD HEALTHCARE & REHABILITATION CTR 54,168 48,068 34,445 \$0.00 ORCHARD MANOR, INC 44,286 42,800 28,272 \$0.00 ORWIGSBURG CENTER 47,580 43,596 28,231 \$0.00 OSPREY RIDGE HEALTHCARE AND REHAB CENTER 29,646 26,902 22,096 E \$0.49 \$10,827.04 PASSAVANT RETIREMENT AND HEALTH CENTER 57,828 48,679 25,347 \$0.00 PAVILION AT BRMC 34,770 31,731 23,047 \$0.00 PEMBROOKE HEALTH AND REHAB RESIDENCE 65,880 61,352 48,937 F \$0.35 \$17,127.95	NAAMANS CREEK COUNTRY MANOR	32,940	30,468	15,840			\$0.00
OAKWOOD HEALTHCARE & REHABILITATION CTR 54,168 48,068 34,445 \$0.00 ORCHARD MANOR, INC 44,286 42,800 28,272 \$0.00 ORWIGSBURG CENTER 47,580 43,596 28,231 \$0.00 OSPREY RIDGE HEALTHCARE AND REHAB CENTER 29,646 26,902 22,096 E \$0.49 \$10,827.04 PASSAVANT RETIREMENT AND HEALTH CENTER 57,828 48,679 25,347 \$0.00 PAVILION AT BRMC 34,770 31,731 23,047 \$0.00 PEMBROOKE HEALTH AND REHAB RESIDENCE 65,880 61,352 48,937 F \$0.35 \$17,127.95	NORTH HILLS HEALTH AND REHAB CENTER	20,130	16,917	7,600			\$0.00
ORCHARD MANOR, INC 44,286 42,800 28,272 \$0.00 ORWIGSBURG CENTER 47,580 43,596 28,231 \$0.00 OSPREY RIDGE HEALTHCARE AND REHAB CENTER 29,646 26,902 22,096 E \$0.49 \$10,827.04 PASSAVANT RETIREMENT AND HEALTH CENTER 57,828 48,679 25,347 \$0.00 PAVILION AT BRMC 34,770 31,731 23,047 \$0.00 PEMBROOKE HEALTH AND REHAB RESIDENCE 65,880 61,352 48,937 F \$0.35 \$17,127.95	OAK HILL NURSING AND REHAB CENTER	17,568	15,331	6,936			\$0.00
ORWIGSBURG CENTER 47,580 43,596 28,231 \$0.00 OSPREY RIDGE HEALTHCARE AND REHAB CENTER 29,646 26,902 22,096 E \$0.49 \$10,827.04 PASSAVANT RETIREMENT AND HEALTH CENTER 57,828 48,679 25,347 \$0.00 PAVILION AT BRMC 34,770 31,731 23,047 \$0.00 PEMBROOKE HEALTH AND REHAB RESIDENCE 65,880 61,352 48,937 F \$0.35 \$17,127.95	OAKWOOD HEALTHCARE & REHABILITATION CTR	54,168	48,068	34,445			\$0.00
OSPREY RIDGE HEALTHCARE AND REHAB CENTER 29,646 26,902 22,096 E \$0.49 \$10,827.04 PASSAVANT RETIREMENT AND HEALTH CENTER 57,828 48,679 25,347 \$0.00 PAVILION AT BRMC 34,770 31,731 23,047 \$0.00 PEMBROOKE HEALTH AND REHAB RESIDENCE 65,880 61,352 48,937 F \$0.35 \$17,127.95	ORCHARD MANOR, INC	44,286	42,800	28,272			\$0.00
PASSAVANT RETIREMENT AND HEALTH CENTER 57,828 48,679 25,347 \$0.00 PAVILION AT BRMC 34,770 31,731 23,047 \$0.00 PEMBROOKE HEALTH AND REHAB RESIDENCE 65,880 61,352 48,937 F \$0.35 \$17,127.95	ORWIGSBURG CENTER	47,580	43,596				\$0.00
PAVILION AT BRMC 34,770 31,731 23,047 \$0.00 PEMBROOKE HEALTH AND REHAB RESIDENCE 65,880 61,352 48,937 F \$0.35 \$17,127.95	OSPREY RIDGE HEALTHCARE AND REHAB CENTER	29,646	26,902	22,096	Е	\$0.49	\$10,827.04
PEMBROOKE HEALTH AND REHAB RESIDENCE 65,880 61,352 48,937 F \$0.35 \$17,127.95	PASSAVANT RETIREMENT AND HEALTH CENTER	57,828	48,679	25,347			\$0.00
	PAVILION AT BRMC	34,770	31,731	23,047			\$0.00
PENN CENTER FOR REHABILITATION AND CARE 45,384 39,993 30,876 \$0.00	PEMBROOKE HEALTH AND REHAB RESIDENCE	65,880	61,352	48,937	F	\$0.35	\$17,127.95
	PENN CENTER FOR REHABILITATION AND CARE	45,384	39,993	30,876			\$0.00

	Poportod	Popertod				
	Reported		0/00/0040			
	Available	Actual	6/30/2012	_		
Name	Days	Days	MA Days of Care	Group	Per Diem	Total Payment
PENNSBURG MANOR	43,920	41,963	29,324			\$0.00
	19,764	17,627	7,519			\$0.00
PETER BECKER COMMUNITY	26,352	22,304	8,533			\$0.00
PHOEBE BERKS HEALTH CARE CENTER, INC	43,920	31,440	9,523			\$0.00
PHOEBE HOME, INC	144,570	133,897	79,443			\$0.00
PHOEBE RICHLAND HCC	52,338	42,410	23,824			\$0.00
PHOEBE WYNCOTE	21,228	19,113	13,030			\$0.00
PICKERING MANOR HOME	17,202	16,743	5,706			\$0.00
PINE RUN HEALTH CENTER	46,482	24,196	4,599			\$0.00
PINECREST MANOR	50,508	45,065	26,998			\$0.00
PROSPECT PARK HEALTH AND REHAB RESIDENCE	65,880	57,764	45,527			\$0.00
QUAKERTOWN CENTER	50,508	48,065	35,049			\$0.00
QUARRYVILLE PRESBYTERIAN RETIRMENT COMM	47,580	39,021	13,973			\$0.00
REDSTONE HIGHLANDS HEALTH CARE CENTER	28,182	26,308	14,803			\$0.00
REGINA COMMUNITY NURSING CENTER	44,286	42,004	29,940			\$0.00
RENAISSANCE HEALTHCARE & REHAB CENTER	45,018	43,874	33,826			\$0.00
REST HAVEN-YORK	58,194	48,825	30,873			\$0.00
RICHBORO REHAB AND NURSING CENTER	30,012	27,488	21,707			\$0.00
RITTENHOUSE PINE CENTER	43,920	36,470	20,653			\$0.00
RIVERSTREET MANOR	44,652	42,644	26,964			\$0.00
ROCKHILL MENNONITE COMMUNITY	32,940	31,229	10,126			\$0.00
ROLLING MEADOWS	44,286	40,877	29,945			\$0.00
ROSE VIEW CENTER	45,018	43,657	30,572			\$0.00
SAINT ANNE HOME	45,750	44,006	28,090			\$0.00
SAINT ANNE'S RETIREMENT COMMUNITY	44,286	40,663	15,625			\$0.00
SAINT FRANCIS COUNTRY HOUSE	99,918	95,502	72,669			\$0.00
SAINT IGNATIUS NURSING HOME	64,416	59,243	46,087			\$0.00
SAINT JOHN NEUMANN NURSING HOME	82,716	79,835	57,624			\$0.00
SAINT JOSEPH VILLA	38,796	35,693	21,060			\$0.00
SAINT MARTHA MANOR	43,920	43,025	23,797			\$0.00
SAINT MARY'S MANOR	43,920	42,566	26,745			\$0.00
SANATOGA CENTER	47,580	44,193	19,969			\$0.00
SARAH A REED RETIREMENT CENTER, THE	38,796	35,704	18,108			\$0.00
SAUNDERS HOUSE	65,880	61,473	24,533			\$0.00
SCHUYLKILL CENTER	69,540	66,479	46,475			\$0.00
SENECA PLACE	63,732	60,010	39,877			\$0.00
SETON MANOR INC	43,800	42,320	29,620			\$0.00
SHERWOOD OAKS	15,942	10,443	366			\$0.00
SILVER LAKE CENTER	63,684	61,049	47,391			\$0.00
SILVER STREAM CENTER	43,920	42,272	35,768	D	\$0.95	\$33,979.60
SKY VUE TERRACE	36,600	30,710	27,148			\$0.00
SLATE BELT NURSING AND REHAB CENTER	46,116	44,464	24,536			\$0.00
SMITH HEALTH CARE, LTD	13,542	12,608	6,478			\$0.00
SOMERTON CENTER	88,206	78,359	64,841			\$0.00
SOUDERTON MENNONITE HOMES	22,326	21,981	10,002			\$0.00
SOUTH FAYETTE NURSING CENTER	21,960	20,171	18,352	А	\$3.88	\$71,205.76
SOUTHWESTERN NURSING CENTER	43,188	30,664	14,331			\$0.00
SPRUCE MANOR NURSING AND REHAB CENTER	73,200	69,254	53,976			\$0.00
ST JOHN SPECIALTY CARE CENTER	109,800	81,296	58,845			\$0.00
ST JOSEPH'S MANOR (DBA ENTITY OF HRHS)	108,040	104,873	57,028			\$0.00

	Reported	Reported				
	Available	Actual	6/30/2012			
Name	Days	Days	MA Days of Care	Group	Per Diem	Total Payment
ST LUKE'S REHABILITATION AND NURSING CTR	17,568	16,747	11,794			\$0.00
ST. LUKE'S VILLA	18,300	16,862	9,113			\$0.00
ST. MONICA MANOR	65,880	62,667	44,272			\$0.00
STATESMAN HEALTH AND REHAB CENTER	36,966	34,426	23,739			\$0.00
STERLING HEALTH CARE AND REHAB CENTER	60,024	57,336	44,871			\$0.00
SUGAR CREEK REST	41,724	35,373	24,983			\$0.00
SUMMIT AT BLUE MOUNTAIN NURSING & REHAB	33,306	32,344	19,646			\$0.00
SUNBURY COMMUNITY HOSPITAL SNF	10,614	5,397	3,054			\$0.00
TEL HAI RETIREMENT COMMUNITY	50,874	48,636	19,623			\$0.00
THE BELVEDERE CENTER, GENESIS HEALTHCARE	54,900	52,547	41,185			\$0.00
TOWNVIEW HEALTH AND REHAB CENTER	43,188	30,765	24,998			\$0.00
TRANSITIONS HEALTHCARE AUTUMN GROVE	37,698	35,283	30,485	С	\$1.57	\$47,861.45
TREMONT HEALTH AND REHABILITATION CENTER	65,880	61,936	42,008			\$0.00
TRINITY LIVING CENTER	39,894	35,944	27,385			\$0.00
TWINBROOK MEDICAL CENTER	45,384	40,868	29,060			\$0.00
UPMC HERITAGE PLACE	53,070	50,911	34,407			\$0.00
VALLEY MANOR NURSING AND REHAB CENTER	65,880	63,615	46,819			\$0.00
VILLA SAINT JOSEPH OF BADEN INC.	43,800	43,036	26,068			\$0.00
VILLAGE AT PENNWOOD	46,116	35,553	31,450			\$0.00
VINCENTIAN DE MARILLAC	18,300	16,828	10,208			\$0.00
VINCENTIAN HOME	65,880	60,514	34,151			\$0.00
VINCENTIAN REGENCY	52,338	47,791	28,280			\$0.00
WALLINGFORD NURSING AND REHAB CENTER	74,664	66,849	48,415			\$0.00
WAYNE CENTER	40,992	36,461	22,534			\$0.00
WAYNE WOODLANDS MANOR	44,286	36,112	23,177			\$0.00
WESLEY ENHANCED LIVING AT STAPELY	43,920	39,885	30,228			\$0.00
WEST HAVEN MANOR	64,782	55,727	31,522			\$0.00
WEST HILLS HEALTH AND REHAB CENTER	54,900	51,950	24,186			\$0.00
WEXFORD HOUSE NURSING CENTER	66,612	59,587	32,719			\$0.00
WILLOW RIDGE CENTER	43,920	34,945	9,880			\$0.00
WILLOWCREST	50,508	25,268	9,267			\$0.00
ZERBE SISTERS NURSING CENTER, INC.	31,842	30,371	19,345			\$0.00